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Question Number : 1 Question Id : 50131411094 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

, d2y 1y
If y=cos(logx)+sin(log x) then x~ —1 e
dx” dx
{ . d*y dy
v = cos(log x) + sin(log x) Yo WIG JV Sl AL
dx dx
Options :
0
1. %
-1
2. %
y
3.%
-1
4.

Question Number : 2 Question Id : 50131411095 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

2 1 - -~
If cos(2x) =a, +ax+a,x” +a;x° +a,x* +... then find the value of a,

cos(2x) =a, +ax+a,x’ +a,x +ax’ +... 0N a, BVE) Dewsd

Options :
1. 1
e
2. % ©
2
3.4 3



lad |

Question Number : 3 Question Id : 50131411096 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

’ I d’y 2a'x®
H y =3ax +x =0then —+———=
ax” y
%> ¥ i)
! 2, 3 d'y 2a'x’
¥y =-3ax’ +x° =0 0008 — +——=
dx v

Options:

v 0
2. % |
3. % "8
4, % @

Question Number : 4 Question Id : 50131411097 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Find the radws of curvature at the origin of the curve

X =25y +30 -4y  + 527 - 6xy+ 7y -8y =0

£ =20 +307 — 45 450 -619+ 79" -8y =0 9T SR8 70 Dochs) 38 S|ie
ROV ATV VAW

Options :

1.8 4
5

2. %
4
5



£ | n

X |

\ C

Question Number : 5 Question Id : 50131411098 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0
Find the radius of curvature at any point of the curve y=c cosh|

y=ccoshl 2 | o SR8 DB DOy 3¢ SEE TITR, ST
&

Options :

4. %
Question Number : 6 Question Id : 50131411099 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Find the evolute of the parabola y* = 8x
v _ 2
DTIOON0 ¥~ =8x SBwE) TH20 e

Options :
27y° =2(x—4)°

1.4

=2(x-4)’

..-I'.:l =

2. %

yi=(x—-4)

3. %



27y" = (x—4)°

Question Number : 7 Question Id : 50131411100 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Find the asymptotes parallel to y-axis of the curve (x> + y*)x—ay’ =0

S0 (FF +y I -ayt =0 55 y-9FA8 DSFOSBEOT G0T @508 935 Tped
TNV ATVVINNY

Options:
1.« x—a=0
5 % x+a=0

3 % x—a=0; x+a=10

no H"‘;}'ﬂlpTDIES
5065 DG, Bpen B

Question Number : 8 Question Id : 50131411101 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Find all asymptotes parallel to x-axis of the curve x*y* —a*(x* +y*) =0
INTEINW P -a (P 4+ =0 3% x-o5d8 HSrosdor &od @) @50 D)8)
DO S0

Options:

1 % y—a=0
yv+a=0

2. %

y—a=0; y+a=0



no asymptotes

] it

@c50ed 5 Tpen B

Question Number : 9 Question Id : 50131411102 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Find the asymptotes of the curve rf=a
oI Bl 70 = a S5O @506d D)) B e
Options :
sméd=a

1. %

5  FsmO=a

4 % rcos@=a

Question Number : 10 Question Id : 50131411103 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

i ] !

|2 =2 | oz Oz
If z = log| —— ! then x—+y—=
X el ) cx cy
(25 =" ) . oz oz
z = log 2| @ond xZ4+yE -
LR | o cy
Options :
1. % 1
0
2.9
3. % -1

[ ]

4. %



Question Number : 11 Question Id : 50131411104 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

21 -1 1
. : ; : O°E 0z 07z

If z= f(x,y)1s a homogenous function of x, yof degreenthen x"—+2xyy——+y —=
ox° axdy oy

2= f(x,y) ©RO x.yOS n SSHB AT 1HDHOHSN wond

, %% % i
X 3 .—2 }!ﬁ-l_y-ﬁ:
ox cxcy Cj-"_
Options :
(n—1)z
2. %
3 ¢ nn—-1)z
% nin+1)z

Question Number : 12 Question Id : 50131411105 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
o(x.y) _

If x=rcos# and y=rsmf then -
é(r.a)

X=rcosf HBOSH y=rsmf eond &Y _
c(r.&)

Options:
rsm e

5 % rcosé



Question Number : 13 Question Id : 50131411106 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

i 3 - -

af X+ ¥ cu Cu
If u~=tan , where x# y then x—+y—-=
, X—=F ) X eV

(5 T e B A
u = tan™| it Q818 x 7y oS M M
[

= } Cx cy

Options :

s 2u
1.9

tan2u
3. %

4 % COt2u

Question Number : 14 Question Id : 50131411107 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The first order partial derivatives of tan™ (x+ )

tan” (x+ p) B0EY 106D D05 2§ & 9595023000 EaDF 00

Options :
__ 3
1+ (x + y)°

1.¢
I,
1+(x+y)

2. ®
[+(x+y)

3. %



1+ (x+y)

Question Number : 15 Question Id : 50131411108 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

: * cu
If u=x"-y, x=2r-3s5+4 and y=-r+8s-35 then —=
cr
PR e vy ; . o cu
U=x" -y, x=2r-35+4 006 y=—r+8s-5 ®ONS —-=

cr
Options :

A Vs
o BB

4x+ 2y

2x+4y

2x—4y

Question Number : 16 Question Id : 50131411109 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The coefficient of x> in maclaurin’s expansion of y = sin x is

y =sin x @ PDDATIE DSOS 363 D& x5 B/ Heago

Options :



Question Number : 17 Question Id : 50131411110 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

g .
The envelop of the curve ¥~ = 2a(x—a). where a 1s the parameter

DT a (e (&S50 ¥ = 2a(x —a) TwE), 058355 ETF A

Options :

u--Li
RN
1. %
X
}‘—;T
2. ® 2
X
p=1_—
v V2
X
y=+—
T
4, %

Question Number : 18 Question Id : 50131411111 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Given function f(x.y)=x" —2xy+y* +x° =y  +x°
", e ¢ 2 2
D) (DDADSD f(xy)=x" -2xy+y +x’ -y +x°
Options :

has maximum value at origin

2037 2006 I (10 DeWade FOR G0tnod

1. %
has minimum value at origin
- 230070 20606Y D Do) DeEWsI EOR &0LN0d

3.v



has neither maximum nor minimum at origin

ST 220N 9 1D NDAIW o VeI EON GO

has maximum value but no mummum value at origin

3007 20663 3G (105 DEVeI EON G0N0 3R ENa Denadahd §OR

4 % 00D

Question Number : 19 Question Id : 50131411112 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Find the maeclalurin’s series expansion of log(1—x)

DDONN  Tog(1—x) k) SO (T3 DG

Options :
2 3 4 1
X X X 1 X
B i e AT
2 3 n
1. %
= a x X
_I_______ L g —
2 3 4 7
2.
x: 1_3 I-l m
X+—+—t+—+.+—+
2 3 4 7
3. %
7
2 1IL3 1_4 i i
-X+— 4t —— ..—I-(—lj —+
s 3 4 n
4, ®

Question Number : 20 Question Id : 50131411113 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Find the greatest value of the function f(x)=x" —9x" +24x on [0,6]

[0,6] @083065° f(x)=x" —9x" +24x T (N0 Ty, KO Dewed

Options :
1. %



, % 16

4.¢ ~

Question Number : 21 Question Id :

Correct Marks : 1 Wrong Marks : 0

50131411114 Question Type : MCQ Option Shuffling : Yes

The differential equation of the family of circles of radius r whose centre lie on the x-axis is
301890 x- 295 0 D SOLF r TG0 () 59T Kueno22s5m Th0E) 9550

a%G2:50005 EeE

Options:
{ dy ) " .
¥ == [ F =T
Cdx
1. %
i
1-'! — 41 I= re
W S
2. %
2| (dy ) =22
(\dx) |
3.¢
8 Y
— +1 ! — &
| f _:I
4. %

Question Number : 22 Question Id
Correct Marks : 1 Wrong Marks : 0

: 50131411115 Question Type : MCQ Option Shuffling : Yes



I+]

The solution of d—‘ tl=e

dx
dl" T+ ¥ M L
7——l—e OB0E), TG
ax
Options :
y+e 7’ =¢
1.% °
x+e N =¢
2.9
pre T =¢
3.% ©
x+e 7 =¢
4. %

Question Number : 23 Question Id : 50131411116 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

; z dy i

Integrating factor of x cosx (d—:) + y(x sinx + cosx) = 1

. fdy R :05‘5« vv’ﬁ}} . Hy A Mool W X
x cosx -]+ y(x sinx + cosx) = 1 ©F @500 QoSO TIE) Narer Measo
Options :
1 % secx

5 % COSX

X COSX

4. X secx

Question Number : 24 Question Id : 50131411117 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



If xMy¥ is integrating factor of the differential equation y(1+ xy)dx + x(1 - xy)dy = 0
then the ordered pair (h, k) is equal to

y(1+xy)dx + x(1 - xy)dy = 0 ©F @350 daDEBLIS0 M) HSrserd Hego
vk oond (hk)=

Options :
(=2,-2)

1.¢

2% 727D

3.0 &H

4. % (=1-1)

Question Number : 25 Question Id : 50131411118 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

. dx dy dz
Solve = A
bz—cy Cx—az ay—bx
dx dy dz s
= ——i= o308y PO
bz—cy cx—az ay—bx = :
Options:

ax+byd4-ez=0 3 xty+2=L;

ax—by—cz=0C, : x2+y*—z? =0,

2. %
3 ¥ i Lhy-tez =0 X2 EyE L=
4 % ax —by+cz=0C, : x2—y?+z2=0¢,

Question Number : 26 Question Id : 50131411119 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The solution of p?2 —p(e*+ e *)+1 =0, wherep = iy

dx

pZ—ple*+e ™) +1=0 OBE), TrdS . [EE p =%
Options :

(y—e*—C)(y+e*—C)=0
1. ¢

(ke =0Q)y:te *—E) =0

2. ®

(y = —Cy = =C)=10
3.

7 ¥ _ M(v—eg > — =
4 % (y+e*—C)y—e C)=0

Question Number : 27 Question Id : 50131411120 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The solution of sin(y — px) = p. wherep = %

sin(y —px) =p O30%) ardo . @8 p ...
Options :

1 & Y=cx—sinTlc

P — v in—1
2.\?;."!.—('14-3111 C

1

3 % Y=cx+cos—c

1

Y=CX—C05 °C

Question Number : 28 Question Id : 50131411121 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0
The solution of (y —px)(p —1) =p. wherep = i

ax

O -pO@-1)=p S FES, WK p=F

Options :



e e+ =c

y % Hen(c—1)=c
3 ¢ (v —ex){e—1)=¢

4% Gt el F1) =+

Question Number : 29 Question Id : 50131411122 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

; ; 5 2 2 2 ;
Find the orthogonal trajectory of the famuily of curves /s + y fr=ah, whereaisa parameter

W Ty W I 2 2 2 5 W, 114
NS a HO NS EEN0N x B3 +y 3 =a73 ENE) ©02 HOTESS0
PNVSTNVINY
Options :
4 4 4
1 % X .’ra—i-l",. .fa_('."'fz
-4.; N T4 s 4}.!'
2.\?,_};.3 .11 JHIE_C.E
5 5 5
B_W X J'IIE—:!I:- J'JI3={'.-'II3
’2};' B 12;1' = 2y
4 % x /3 3 3 = /3

Question Number : 30 Question Id : 50131411123 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

How long does it take for a given amount of money to double at 6 percent annum compounded

annually

QDI T30 H0SSITVE 6 TS0 DK SOS D) N0 TR BEJ0)Y
EINTMOIA

Options :

1% 8.895066 years



> % 9.89560 years

3 % 10.89566 years

4 11.89566 years

Question Number : 31 Question Id : 50131411124 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Solve (D2 +1)2y =0 . where D= fi

ax

D2+ 1)%y =0 Tk TGOS, ARG D ==
Options :
_— V=1, C08k+ £, siinx
R 4 ¥ = (’Cl < [:‘21{:} cosx + (Cg + Cq,.‘['j Sinx
3 % YV=(G+Gx) gLl Cgr) e

4% V= L

Question Number : 32 Question Id : 50131411125 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Particular Integral of (D24 3D +2)y =e?* . where D = di

X

(D% + 3D + 2)y = e &), 10828 DSFEOD. &S D=2

- dx

Options:




—2X

4. # 12

Question Number : 33 Question Id : 50131411126 Question Type : MCQ Option Shuffling
Correct Marks : 1 Wrong Marks : 0

Particular Integral of (D2 — 2D + 1)y = xsinx . where D = 2

ax

(D% — 2D + 1)y = x sinx B0E) 0B5E DIPEOR, WEES D = i

Options :

X cosX +cosx — sinx

X cosx+tcosx—sinx
2

X COSX—COSX—5INX

3, % .

X cosx+CcosxX—Xx Sinx

4. % .

Question Number : 34 Question Id : 50131411127 Question Type : MCQ Option Shuffling :

Correct Marks : 1 Wrong Marks : 0

. _ :
The solution of %— y =X subjectto y(0) =1 and y'(0)=-1 is

y(0) = 100050 y'(0) = —1 @00 dg*':

dx?

—y=x % TAON

Options :

X + coshx
1. %

X — coshx
2. %

coshx — x
3.¥

:Yes

Yes



2x — coshx
4. %

Question Number : 35 Question Id : 50131411128 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If f(x) 1sasolution of x%y" —3xy'+4y=0and f(x) # 2% then f(x)=
X2y = 3xy" +4y =0 BoEL O f(x) HOOD F(x) =12 OB f(x) =

Options:
x? logx
1.

5 % X logx

- —x? logx

4 % logx

Question Number : 36 Question Id : 50131411129 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Integrating factor of (3x2y2+x%y—2x* + y3)dy + (xy* —xH)dx =0 is
Ba2y? + 1%y — 223 4 yO)dy + (xy% — x12)dx = 0 &% 9508 AaEGES0 T

Qe easo
Options :
e~V

1. %

g3y
2. ®

—&y
e
3. %

6y
4.9



Question Number : 37 Question Id : 50131411130 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Form a partial differential equation by eliminating the constants h and k from

(x=h?+ (y—k)2+22 = 12

(x-h2+ (7-k)2+22=1 oF SDEBNS aAFdIDIE SeoTienh HBO
ko) SONR B FEE @580 dDEGeaS

Options :

e 2 p MU 2
1.%{p + g=F 1) = Z

z(p?+ g2+1)=¢
2.

. SRR, B o
- p*—q"+1)=1z

Lo 2@t +rD=c

Question Number : 38 Question Id : 50131411131 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Form a partial differential equation by eliminating the arbitrary function f from the equation
x+y+z=fx%+ yr+29)

Y+ +z=f02+ 2 +172) @F SDEG0NS OIrGyDE Haadn f &
FSOAR OB FEE @550 dDEGISD

Options :

Vs +ilz—x — XY
- (; p +( )q ]

5 (y+z)p +(z—%x)g =x—Y

3 x W—2p +(E+tx)g=x—y

(y—z)p+{z—x)g=x+y



Question Number : 39 Question Id : 50131411132 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Solve the partial differential equation (x* — v — z%)p + 2xy q = 2xz

(x2— y2— z22)p+2xyq = 2x2 ©D 8 & ©95508 HDEGEIM Qiwg), AR

Options :
2+ y2—z2=xf@)
1. % g
2+ y24z=xfE)
2. % i
x:+ }=2+zz=zf(£)
3. v -
x ¥ }*+z=zf(£)
4, % .

Question Number : 40 Question Id : 50131411133 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

dax dy dz

The solution of the equation . = = —
x(?=z?)  y@-a?)  z(-y?)

dx dy dz

20720 y(@E@—=?)  z(x-y?)

QB0EY, (PG
Options :

e =€y ¥yt bEt= G
1.9

< " Ol el R S O
2.

xyz = Cy: x2—y*+z%= C,

CEYyErs G ¥FFEyPE et
4. ®



Question Number : 41 Question Id : 50131411134 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If m and M are respectively the greatest lower bound and least upper bound of the set

w42
L= I ik 0} then
x+2

5= (2221 > 0] 208 O 103 G i7eh 500 EY bl e e S
m OB M ey eoN®

Options :
MmeES . M5

o w MES.MES

meS. . Me§

meS.Mes§

Question Number : 42 Question Id : 50131411135 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

a -, 2
The value of lim (cosx)®™ ™

x—l

lim (cos x)®%* TBE) Dened

x—l)

Options :

Question Number : 43 Question Id : 50131411136 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

2

The value of [M(1—x+5_% D"E 4 et d

1e value of | —x+ -t (D) o+ )t dx
2 %7 ELG oy 2 2, T o
jﬂ(l—r+;—;+....+(—1j —+...)e"dx Q) D)

Options:

1.% 0

not defined

4% O R ATEINVWIR AN

Question Number : 44 Question Id : 50131411137 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Letf:R —» R beafunctionand f(x) = [x — 1| + |x — 2|. LetS; = {x : f is continous at x} and
S, ={x: fisdifferentiable at x} then

fiR = R 1030000 @0l f(x) = |x — 1]+ |x - 2| A0S

Sy ={x: f RO x5O @00} HOA

S={r: f @B xS5Y eS5OAHN] eons

Options :

1.33 $1=R SQ=R
Se=R. S=H~%1.2

Lo 5 2 =R-{12)

3 % Sy=R—41.2F. Bp—»1

L x SI=R-{L2}, S =R-{12}

Question Number : 45 Question Id : 50131411138 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The points of continuity of the function f:R — R defined by f(x) = [x*—1]|if xER—Q and
fx)=0if x€Q

f:R = R D000 @00 ¥ € R — @ @000 f(x) = |12 - 1] HOO5

X €0 ONIYIR f(X)=0 ™AEORN f BuE, ©9DIN), Dochayen

Options :

1. % X ==l ¥= T =12

2.%,;,»._1,':—1. A=

Ry g

Question Number : 46 Question Id : 50131411139 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let f: R — {0} = R be a function defined by f(x) = |x| then
f:R—{0} = R [HDDOH0 e20m f(x) = x| o200

Options :

f 15 continuous and differentiable

f @D IN)S0 DO 550D €990
1.¢

f 1s continuous but not differentiable

f @DDIN)0 90)eR0O 520 e9555OA0 0 2N
2. %

f 1s differentiable but discontinuous

- f 55000HE0 95008 Q) DD )Y 5N

f 1s discontinuous

. [ D) A0 @60l
4,

Question Number : 47 Question Id : 50131411140 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The sequence [{'—lj“ (1 + i)} is
[{'—lj“ (1 + 3} @R ea[EoDa0

Options :

bounded below but not bounded above

RIS EAARWELIN TV o TA R I IV INEATA W STAN

bounded abowve but not bounded below

(Do) 2230 €96H0A TR QDed 2D 30 57N

bounded

v 002250 @s)eB0

not bounded

PO T TATAIN IR IAY
4. %

Question Number : 48 Question Id : 50131411141 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If f(x) = x* — 2x® in (0,5) then the value of ¢ to satisfy the Lagrange’s mean value theorem is
008530 (0,5 & f(x) = 1* - 21% ©F 1D AN BTOE DD 7o

N0 B2 NN ¢ T8y DN

Options :



Question Number : 49 Question Id : 50131411142 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

: : 5
If [x] denote the greatest integer not exceeding x then fu [x] dx =

x S0 OO SR K05 ¢ dosn [x] ™ ASIDR [[x] dx

Options:

Question Number : 50 Question Id : 50131411143 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

-1
The serdes Y7o U( )T” . “where ¥ > @

2+1
e cr( )l“ €95 k%?ﬁ QELC x>0

Options :
convergesif x < 1

e

< 1 @900 I 00D N0H

—

converges if x > 1
¥ > 1 @00 @208 008

convergesif x =1
x = 1 @0NNYID @)dBNoH

does not conv Crges

@02)B0IN



Question Number : 51 Question Id : 50131411144 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

coshx—cosx _

lim .
x30 Xsmx
Options:

1. ® .
2%t

3.v 1

4, % =

Question Number : 52 Question Id : 50131411145 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statement 1s false
&2 1808 DIV DO 9565530
Options :
f(x)=x" is uniformly continuous on [—3,5]

[-3,5] & f(X)=x" JEETD DD 38850 96508

If f 1s continuous on [1,2] then f 1s uniformly continuous on [1,2]

[1,2] & f edD10)60 000 [1,2] S f DEEFD DD 107650 e965e0H

2. %
If f 1s uniformly continuous on R then f 1is continuous on R
- RS [ EEFD @0IDIN) 50 00N® RS f 0D 1550 @508

f(x)=x" 1s uniformly continuous on R

.o R S f(X)=x" DEETD DD 100 95000



Question Number : 53 Question Id : 50131411146 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks 0

N ;
If f(x)=x and P= J| iy 31 - 15 a partition of [0,1] then the lower Riemann sum L(P, f) =
,' 1 1:3
f()=x HD NN DO @030 [0,1] S P=1 1;1 2.8 DS DS

@0 f Tw&y Obad Ba® © IS L(P. f)=

Options :
9
3
5 % 64
3. %
95
256
4, ®

Question Number : 54 Question Id : 50131411147 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is true

£21808 |05 DA D650

Options :

Every bounded function is Riemann integrable

193 DODE (DO BSTS DeSTFEODOD €95He00E

Every continuous function is Riemann integrable

58 DS DONSN BSTS HISTEOD DS 9S00

Every monotonic function is Riemann integrable

i} 19983 DESQ (DNONN BITS DS EOTNAD €96) 0
3.



Every bounded function need not be Riemann integrable

L 1963 HBDE (NN DTS DITEOQONSN FHINE0 BED

Question Number : 55 Question Id : 50131411148 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A bounded function f:[a.b]— R 1s Riemann integrable on [a,b] if and only if for each >0

there exists a partition P of [a,b] such that

HODC (HHODSN f:[a.b] = R 9FO [a,b] &S BIPS DSTEOQDD oIR8
0548 0750 AADND0 (238 £>0 8 DML [a,5] € D D P H55VebO
TSALAY

Options :
U(P,f) —L(P,f) =€

, UL f) = L(P, ) <€

U(P,f)— L(P,[) >

o x LPH-UPS) <€

Question Number : 56 Question Id : 50131411149 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If f:R - R is function defined by f(x) =kx*+ 1 1f x<land f(x)=x*+k f x>1 is
differentiable at x=1 then k =

fiR - R |OD0H0 @on x<1 @00y F(x) = kx2 + 100050 x> 1
900 (1) =12 +k TRGON & D00 x=1 & 955NN
@od k=

Options :
1. 0

2w 1



Question Number : 57 Question Id
Correct Marks : 1 Wrong Marks : 0

- T 4 7
{171 e e

v I | 3n

Options :

F I W
log| =

Question Number : 58 Question Id
Correct Marks : 1 Wrong Marks : 0

: 50131411150 Question Type : MCQ Option Shuffling : Yes

: 50131411151 Question Type : MCQ Option Shuffling : Yes

Let B. M and C respectively denote the set of bounded sequences i R. monotonic sequences i R

and convergent sequences in R then
65 08PE a0 R €5 A eSS

DO 9D|ETO el B, DEa)

90| daDed M oHO0 e eacdEeire) daded € e eond

Options :

Bc(MUC)
1. %

5 % (BUM)cC

3 % M c(CINB)



B(IM)cC
2 ¢ NM)c

Question Number : 59 Question Id : 50131411152 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

1

o
"
|

[
lim| Y s

M= | 4

Options :

1.¢ €

Question Number : 60 Question Id : 50131411153 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

: = |
The series z A
% (log 1)

logm

3 1

oz n @ﬁ L_%Eﬁ
n=2 (lﬂg .FIJ -

Options:

CONVErges
@200

diverges

, 2000

3. %



oscillates finitely

HBNES EHSOo

oscillates infinitely
900 EOS0

Question Number : 61 Question Id : 50131411154 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

For the group homomorphism f:Z,; — Z,, such that f(1) =8 then the kemel of f

[ 12y Zyy 550 D07 08T 0Tt f(1) =8 00 f Tj) ©0ssn

Options :

% 03]

04]

0.6

Question Number : 62 Question Id : 50131411155 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The number of homomorphisms from the group (Z,+)onto (Z.+)

QDoATTO (Z,+) SNOB (Z,4) S5 DBV Q0D DedETIHe DO

Options:

1. % 1

2. 2

3. %



Question Number : 63 Question Id : 50131411156 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The number of elements in the group S, xZ, 1s

S, xZ; @9 D307%70 SR S5 OP;

Options :

Question Number : 64 Question Id : 50131411157 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The centre of the group (Z;;,+5;) 1s

(Z33,+33) @ Q0 ¥, Soldsso

Options :

| w 0}

Question Number : 65 Question Id : 50131411158 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



If x, yare two non identity elements in a group G such the order of x is 2 and x'yx =y

then the order of y 1s

DPT0 G S x#e, y+e 00 BOK OFOTED e0dHEN ¥ SIS 2 HOA
=y eond y RBwk) e
Options :

1. ® l

Question Number : 66 Question Id : 50131411159 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let H be a subgroup of a group G such that O(G) <45, O(H)>10 and [G: H]>3 then O(G)
QelTT0 G 8 H 28 Godndodil’ar0 e0dhietn 0(G) <45, O(H) >10 00 [G:H]>3
@008 0(G)

Options :

36

1. %

-

3 % 42

. 44

Question Number : 67 Question Id : 50131411160 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The converse of Lagrange’s theorem does not hold m

&2 (8068 M350 ¢ BFoER DT°HB0 Ty DIGE0 AF¢I L5 S0



Options :
Alternating group A,

DSOS DoITTO A,
1.¢

Z} 4 Zq

The additive group of integers modulo 4
4 AT0E A0SR el 0 (Z4, +4)

Klein’s four group

. B &0 DalTar0
4.

Question Number : 68 Question Id : 50131411161 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The number of generators of a cyelic group of order 4900 1s
4900 5543 (10 LIEAH HDOFTFAE 235% STroOFe Hoy s
Options :
1% 420

840

1680

4 % 1260

Question Number : 69 Question Id : 50131411162 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Ifaset § has 4 elements then the number of binary operations that can be defined on § is

DA § SR DPOTE DOP; 4 @ONB § 3 DS 1DSTd 00k HBEB0HS oW

Options :
1. %



2. % 2
16

3. % z
fJ..'!-:

4.¢ ©

Question Number : 70 Question Id : 50131411163 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Lét Z5 = {1.2.3.4.5.6.7.8.9.10}, is a group then 4, S

Zy ={1.2345,6.789.10}, 2.8 DT e90nS 4,57 =

Question Number : 71 Question Id : 50131411164 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The number of elements of order 8 in a cyclic group of order 16 15

S3Hed 16 10 WIEOH DAHFOS HSHS 8 He arersee Hows

Options:



4.+

Question Number : 72 Question Id : 50131411165 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let G be anon abelian group of order 10. Let S ={gc G/g =g} then the number of non

identity elements i S 13
DD R HT0 G Ty, SSHS 10 HOK) S={geCG/g=g"} 0B
§ S 65100 Boreh rOTe N0

Options :
1.% 0

Question Number : 73 Question Id : 50131411166 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

. . -1 k 2024 — 20
Suppose G is a group and aba™ =b" for some a,hbcG then a~ ba™

G 2.8 Q0T0 HOAD BN a.beG & aba™ =b* OB ™ ba ™
Options :

2024
1. % :

h—lf‘rl#



Question Number : 74 Question Id : 50131411167 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If 1(G) 1s the group of mner automorphisms of a group G and Z(G) is the centre of G

with O(G) =10 and O(Z(G)) =5 then order of 0(1(G)) =

QeTBI0 ¢ 2 AGLDSF @058 3000 erzdraeed MeaTr0 I(G) D00

G 3w Told¥o Z(G) @aw 0(G) =10 HOAD 0(Z(G)) =5 @ond 0(1(6))=
Options :

1.331

2.\':-"'2

4, % 4

Question Number : 75 Question Id : 50131411168 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The number of units in the ring of Gaussian mteger Z[i]

TYODS FJT0E 50000 Z[i] SR AT SHrese Hows

Options :

Question Number : 76 Question Id : 50131411169 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s the order of the finite field

&21808 oS HBES T |50 THE) 5 ey



Options :
1% 122

123

3 x 124

125

Question Number : 77 Question Id : 50131411170 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A prime 1deal in the ning (Z,+,.) of all mtegers which is not maximal ideal among the following 1s
8 D08PE SO0 (Z,4,) 8 A &2 (806 ST IS eeress e¢38I0 es)H06
5 (100) @¢03,0 T

Options :
1 % 27

Question Number : 78 Question Id : 50131411171 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

. . . Zli
The number of elements in the Quotient ring : [ ]
o B sobiianco i b i
€5ed Jr)) 0N ———— Q) AW O
<l+i>
Options :
infinite
@00

1. %



10

finite but not 3 and not 10

v 3 3¢50 208 10 5°¢0 320 o ed0

Question Number : 79 Question Id : 50131411172 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The number of ideal in a field F 1s
5 (530 F o5%0 (10 esddTrye Doy

Options:

1.% 0

Question Number : 80 Question Id : 50131411173 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A field among the following quotient ring is
N
&2 (80O &5 Heaa0eS B [¢han
Options :
Z
A R




Question Number : 81 Question Id : 50131411174 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

It W={(x,0)/xyeR}, W,={(0,y,z)/y,ze R} are subspaces of a vector space V' = R’(R)
then W +W, =

HOTOSTES0 V = R3(R) S50 W, ={(x,y,0)/x,y € R} DOOW W, ={(0,,2)/y,z € R}
) B0 GRroSTERe @S W+,

Options :

W,
1. %

W,

2. ®

W, NW,

av ¥

Question Number : 82 Question Id : 50131411175 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let S be a subset of a vector space V(F) and L(S) 1s the linear span of § then L(L(S))
AT V(F) %) § 2.8 Gomabed By § C_l"lDéar Ny :j@?l__) L(S)
@©0NS L(L(S))=
Options :
S

1. %



L% V-8

L(S)

Question Number : 83 Question Id : 50131411176 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If the vector (1,2.3) ERS(R) s represented as (1.2,3) =a(1.0.0)+5(1.2.0) + ¢(L.2.]) then b+c=
D04 (L23)eR(R) eodhiere (123)=a(10.0)+b(12.0)+c(12]) o0& b+c=

Options:

1
1.¢

Question Number : 84 Question Id : 50131411177 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let P,(R) be the vector space of all polynomials of degree atmost 2 over R then span of

:_,'['2 +2x+Lxt 4 Z,Jfl 15

a) A0ATE D R 3 A 5D (101 551¢8 BO f® 22aT0 0O
!i [ 4, e o

HATOSTEI BR) S W +2r+1x" +2,x) S Ty 202 Des

Options:
Fy(R)

1. %

F(R)
2. %



P,(R)

Question Number : 85 Question Id : 50131411178 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let W be a subspace of the vector space V' = R'(R) generated by the vectors  (1,-1,0), (3,-1,4)
and (2,0,4)then dm W =

K}Q?Oﬁﬁwﬁﬁm I’F: RI(R) {DS"EI “'-_Lﬂ}; (3._]~4] Eﬁj@':m [2,0.4) Rj@,)—é(ﬂ_jf%s 8—3(‘?\)9_\%@(\\‘)
&rododo W eoond dmi =
Options :

1.% 0

3.

Question Number : 86 Question Id : 50131411179 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

It R. C denote the set of real. complex numbers respectively then the dimension of the vector space
(C+,) over the field R is
T3 D0gPE Haded R SHOC 08T H0ars DA € eond s R =
DEDSDS SOToST S (C4t,) Ty S0y
Options :

1. % ?



21

4.\.},‘,28

Question Number : 87 Question Id : 50131411180 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If 7: R* - R? be a linear transformation defined by T(x, ,z) = (x-y,y—z)forall (x,y,z)c R’
then the rank of T 1s
T:R - R* %0 202 000630 9028 T(x,y,z)=(x-y,y-2) V (x,,2)e R

©oNd T 3w 58

Options :

1. % &

Question Number : 88 Question Id : 50131411181 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let § = {e, ..., }be a linearly independent subset of a vector space V over the field Z, then

the number of vectors m L(S) are

TS0 Z, 2 AEISN DOTosTen Vs §={y,a,.,a,} 28 awe

2£650|8 &N 9ONS L(S) 69 SO 0D

Options :

1. % n



n+2

Question Number : 89 Question Id : 50131411182 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The linear transformation 7 : R* — R” s called the reflexion about x-axis when
x- 35 0 & (D@00 EONG0T 2w D000 TR - R 0ond

Options :
T(x.¥)=(-x.—y)

1.

5 % Tix; 3l ={y.x)

3 T(x.y)=(x—y)

4% T(x.y)=(-x.p)

Question Number : 90 Question Id : 50131411183 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a subspace of the vector space R (R)

& 1808 7S NOTOSTFO RA(R) S8 &arosTreo

Options :
i 3 \
(x.y oI

2 e [[I'.}'Z}E X .—J- = .= J
;(I.}'.Z} =R /% __"1.-1 i :4}

3. % |

::(:r.}'.z) =R /x° +_1L‘2 +z =16}



Question Number : 91 Question Id : 50131411184 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In a vector space R*(R), the vectors (2-3.1), (3,—-15)and (1,-4.3) are
JOToSTES0 R (R) & (2-31), (3-L5) OO (1-4.3) &7 dOFew
Options :

Linearly independent

P 220023 ) £e50( D0
1.

Linearly dependent

220023 €900 £e50| €5a30
2. %

. . - '.I_'
vectors in a basis for R

;xR OB s

neither Linearly independent nor Linearly dependent

220023 ) £e50( €930 SPED SNOOID 220237 @) £e50(eHa00 TN

Question Number : 92 Question Id : 50131411185 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If V is a finite dimensional vector space and W, , W, are subspaces of V then du(7, +7;) =
BB IO DOTOSBT W V S8 7 , W, 0 DO tarobTren
OONS dm( ] + W, ) =
Options :
dim ] + dim 7, — dim 777 LU77)

1. %

5 @ dim ] +dim 77, — dim( 77 (1775
dim ] + dim 77, + dim( 77} LUT7,)

dim 77 + dim 77, + dim( 7 [17775)



Question Number : 93 Question Id : 50131411186 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let T:R* — R’ be a linear transformation given by T(1,0) = (2,3,)and T(1,]) = (3,0,2)
then for any (x, y) € R* we have T(x, y)
T:R* > R 22022 0580000 e0ddeeren T(1,0) = (2,3,1) DOAN T(L1) = (3,0,2)

©oNS D (x,)) e R 3% T(x,y)

Options :

(x+ p,3x—-2y,x+2y)
1. %

(2x+y.3x—3y,x+y)
2.9

(2x+y.3x+3y,x+ y)
3.

(2x+y3x—-3y.x—y)
4.

Question Number : 94 Question Id : 50131411187 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a linear transformation, where T: R’ — R’ defined by

& 1806 TS 202 DO RO, &S T: R - R? SIS

Options :
T(x.y.2)=(x+y.x+y+2z.2)
1. %
- T(x.y.z2)=(2x+3y.3y+4z.5z+x)

3 % T(x.y.z)=(x+y+1z.0.0)

4 T(x,y,.z)=(x+ y.0.1)

Question Number : 95 Question Id : 50131411188 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Let T:R* - R’ be the linear transformation defined by T(x.y) = (2x+ y.3x +2y) and B be the
standard basis of the vector space R°(R) then the matrix [T]H =

T:R* > R* 20022 aBc38aan @85eew T(x,y) = (2x+y.3x +2y) HOO5W
DOTOST 50 RER) 8 ()78 87780 B ©one Sr(ed (1],

Options :

I;z
|1

- —

s =

1. %

if'l 0)
g

Question Number : 96 Question Id : 50131411189 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let P,(R) be an inner product space with the inner product

< p(x),q(x) >= f_llp[x)q[x)dx then ”hz_l" =

2

00 ©P00ST ¥ P,(R) o) NeRIALEINVINE ol To R STATe

< p(,q(0) >= [ p(g()dx wowd == =
Options:
2
5
1.¢
s
2.% °



| s

a0

Question Number : 97 Question Id : 50131411190 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If the vectors x, y of an mner product space V(F) are linearly dependent then

290650 OP0STFN V(F) € x,y €0 2029 D £50(e5 dOFen eoond

Options :

< x,y >| = llxllly
1.9

[<xy > <Ilx[lyll

2. %

|<x,y > =[xyl
3.

<yrv>=l=Illx !
. |<x,y ==l + ¥l

Question Number : 98 Question Id : 50131411191 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

(| A g
If §= R E'?'k 353 )f 8 orthonormal set in an inner product space

R thenk =

068 OT@oSTESN B S §= [G'{?)(Eik)(%%;)} 2.8 ©0278)

OO0 AW OB k =

Options :

L | =



Question Number : 99 Question Id : 50131411192 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The vectors @, f 1in a real inner product space V(F) are orthogonal if
TR 0658 OLP0STH0 V(F) & @, § €0 DO ©02) HOFeD FIR8

Options :

lle +BlI% = llaf* + |18
1.4

le + BII* < llall* + 11817

2. ®

lla + BII* > llall®* + 118117

. e+ BII* = |lall* + 18]

Question Number : 100 Question Id : 50131411193 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A unit vector orthogonal to (4,2,3) in an inner product space R’ is
083 OTWOSTEIN R S (4,2,3) AOFL ©020MT 0% CrdE SO

Options :



LW

(2 1 z)
2 o T |





